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OPN=EINE+= EERSED)

> il A | Xl £ A g
g = =i A &M A= 2] 0H s 2 gt = INE- HEC X &SN g2

= A 3,001,956 3,178,707 A176,751 | & A 3,001,956 3,178,707 176,751
rSfelE= 0 0 0| HISXHS AL LI 1,400 1,400 0
Bx3 0 0 0| SXHIALH 3,000,000 3,177,000 A177,000
=] 0 0 0| rztedy| 0 0 0
Bia 2,422,090 2,319,913 102,177 | J1=2H| 0 0 0
UEt2R33 0 0 == 0 0 0
BREES 549,866 818,7% 268,928 0l X123 556 307 249
o2 0 0 0| K 3eIS4E 0 0 0
Ol Rtz=e 30,000 40,000 A10,000| Ol2-2 2|24kt 0 0 0
JIEFL 0 0 0| JIEHKI= 0 0 0
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1)8X= 0|t 114,390,000& = 114,390
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713 823 =+ 2,307,700 2,130,958 176,742
713-01  iZtski3aales+e 2,307,700 2,130,958 176,742
Na8xa822 2,307,700,000& = 2,307,700
714 OIXI23l= 549,866 818,794 A268,928
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X282 549,866,000& = 549,866
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EA)URHIIB(BAIIYR 3,001,400 3,178,400 A177,000
EaPliE=IN=IN 3,001,400 3,178,400 A177,000
201 LBty 1,400 1,400 0
01 A2 1,400 1,400 1,400 0
NEAD

70,00024+52#43| = 1,400
501 842 3,000,000 3,177,000 A177,000
01 oizis 3,000,000 3,000,000 3,177,000 AT77,000
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=ss == =52 | (ox=za) TS | A9 20| ANIHl | AMSIH| | 2 o=z | 212 | a2as | KIS

2010 kXl | 28,891,329 | 5,500,000 0 0| 21,687,578 341,681 | 1,362,070 | 26,785,000 0] 26,785,000 0 0 0 0 2,106,329
2011E = 1,967,568 0 0 0| 1,964,660 2,3%6 512 1,575,000 0| 1,575,000 0 0 0 0 392,568
2012 = 3,335,403 0 0 0| 3,332,260 3,143 0| 3,020,630 0| 3,020,000 630 0 0 0 314,773
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20144 & 2,004,341 0 0 0| 1,949,770 54,521 50| 2,226,000 0| 2,226,000 0 0 0 0 N221,659
20158 & 2,924,662 0 0 0| 2,899,662 25,000 0| 3,999,120 1,120 | 3,998,000 0 0 0 0| 21,074,458
2016 &= 2,452,090 0 0 0| 2,422,090 30,000 0| 3,001,400 1,400 | 3,000,000 0 0 0 0 A549,310

Al 44,090,126 | 5,500,000 0 0| 36,753,517 470,342 | 1,366,267 | 44,089,570 2,520 | 44,086,000 1,050 0 0 0 556
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22l 1,624,325 549,866 556 549,310
0l X1 2 2 1,624,325 549,866 556 £549,310

Lol 1,624,325 549,866 556 ~549,310
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SIAHAHE 20164
Ol & Xb= 0 S0l A
gAF= - FeI=2

® 2152 (CH9: M)
& & A = Xl & A =
g = =2 oA AT~/ oK g2 & = N HEACX|ENH = Zj
= H 12,912,738 12,995,720 A82,982| &t A 12,912,738 12,995,720 A82,982
M3 100,000 100,000 0| HIS XA AFIH] 495,000 450,000 45,000
Bxz 0 0 0| SXHA A 0 0 0
yRel= 0 0 0| o2y 0 0 0
Bia 0 0 0| 1=l 0 0 0
===t 0 0 0| olEr2 0 0 0
0IXI33l % 12,243,738 12,084,720 159,018 | GIIXI2 12,417,738 12,545,720 A127,982
IR 0 0 0| X2 Sate 0 0 0
0l Rp==2! 269,000 326,000 A57,000| Ol 2=22I 348 0 0 0
pJIS =Sl 300,000 485,000 185,000 | JIEHKIS 0 0 0
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AT =0
7% | =3
RIpE 91 &2))
S el o 5 2 N
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210 B4EANLI+=L 269,000 326,000 257,000
216 OlAt==& 269,000 326,000 A57,000
216-01 Z=30IS30IAt== 269,000 326,000 A57,000
DEEEERUPES 269,000,000& = 269,000
220 LAIEANI2l=L 300,000 485,000 185,000
224 J|Et==2 300,000 485,000 185,000
22405 J|1R3 300,000 485,000 A185,000
PIES 300,000,000& = 300,000
700 BE&-USLLHEHN 12,343,738 12,184,720 159,018
710 EdRS 12,243,738 12,084,720 159,018
714 OIxI=22l= 12,243,738 12,084,720 159,018
71401 OGIXIZ2al= 12,243,738 12,084,720 159,018
NOIXIZ2 sl== 12,243,738,000& = 12,243,738
720 LIS 1 eH 100,000 100,000 0
721 &2 100,000 100,000 0
72103 JIEt2 A& U= 100,000 100,000 0
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Gl &FXb= 0 201 A
AHFZE - Fel=
@ NEH= CERE)
X3 -2 - & - ¢ & a5 INE=S HECX|ENH Hlws2
mE=yNEin! 12,912,738 12,995,720 A82,982
SO ZESSUE 12,912,738 12,995,720 A82,982
Dlgfe H& NETAl 78 495,000 450,000 45,000
5| 3(FED12) 495,000 450,000 45,000
sz N 495,000 450,000 45,000
201 et 19,000 13,500 5,500
01 AE2Y| 13,000 13,000 13,500 A500
1) YBtagh| 11,400
2)HIETS MR 11,400
3) LA 1,50021%1,0005 = 1,500
3) b 100,00024%257H = 2,500
ez 8002, 000 = 1,600
3)AlEt2 50021%2, 000& = 1,000
)ES=ELE 50,0002*267 = 1,300
J)HSEMN ME 7,00021%500% = 3,500
DES=Ea=; 1,600
2) RS2 ARG| Alojag
100,00024+824*25] = 1,600
0B A 6,000 6,000 0 6,000




- YO - HISAY - BAS XEH PSS E=pNE Hwns2
6,000,002 = 6,000
476,000 436,500 39,500
436,000 436,000 436,000 0
436,000
430,000,0002! = 430,000
6,000,0002! = 6.000
40,000 40,000 500 39,500
500,000 *40Z 23| = 40,000
12,417,738 12,545,720 A127,982
12,417,738 12,545,720 N127,982
12,417,738 12,545,720 A127,982
12,417,738 12,545,720 A127,982
12,417,738 12,417,738 12,545,720 A127,982
12,417,738,000! = 12,417,738
o= & A 12,912,738 12,995,720 A82,982
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—es | Tae | NSE | ouam) | T | x| Ag AHI | AMRIH| |2 i=2n | pi2ae | 22se | KIS

2010 JHXI | 3,670,198 | 3,000,000 0 0 0 0| ©275.525| 304,673 356,997| 354,513 0 2,484 0 0 0| 3,313,201
201EE 208,125 0 0 0 0 0| 112,815 93,310 35,124 349,600 0 5,524 0 0 0| A148,999
20128 | 710,122 0 0 0 0 o| 182,88 527,294 313.898| 305,648 0 8,250 0 0 0| 398,224
2013 S | 1.200,366| 500,000 0 0 0 0| 150,366| 550,000| 248.655| 245,700 0 2,95 0 0 0| 91,711
20145 S | 7.984.188| 7,673,724 0 0 0 o 124,109| 186,35| 331,093| 325,700 0 5,393 0 0 0| 7.653,09
20154 613,506 100,000 0 0 0 0| 393,506| 120,000| 585,000| 535,000 0 0 0 0 0 78,506
20164 = 669,000 100,000 0 0 0 0| 269,000| 300,000| 495,000 495,000 0 0 0 0 0| 174,000

3 15,063,505 | 11,373,724 0 0 0 0| 1,508,149| 2,171,632| 2,635,767| 2,611,161 0| 24,606 0 0 0| 12,417,738
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2014 LS THH 2015 US| H@ 2016 LB THH® ER((O20))

A 12,165,231 12,243,738 12,347,738 104,000
CIXI=2 | 12,165,231 12,243,738 12,347,738 104,000

=2 12,165,231 12,243,738 12,347,738 104,000
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SIAHAHE 20164
Ol & Xb= - 20l A
SAHFE ¢ SAFDNEHDIS

® 2152 (CH9: M)
& & A = Xl & A =
g = =2 oA AT~/ oK g2 & = N HEACX|ENH = Zj
= H 976,821 850,201 126,620 | & A 976,821 850,201 126,620
M3 0 0 0| HIS XA AFIH] 231,358 210,420 20,938
Bxz 0 0 0| SXHA A 0 0 0
yRel= 0 0 0| o2y 0 0 0
Bia 0 0 0| 1=l 0 0 0
===t 0 0 0| olEr2 0 0 0
0IXI33l % 735,371 621,689 113,682 | 0l Xl 2 744,463 638,781 105,682
IR 0 0 0| X2 Sate 0 0 0
0l Rp==2! 14,282 16, 152 A1,870| Ol 22| 24k 0 0 0
pJIS =Sl 227,168 212,360 14,808 | JIEFXI= 1,000 1,000 0
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SIAHAHE 20164
Ol & Xb= - 20l A
SAHFE ¢ SAFDNEHDIS

@ $UH = He)
S el o 5 2 o
200 Mol 241,450 228,512 12,938
210 B4EANLI+=L 56,282 58,152 A1,870
213 =x=gY 42,000 42,000 0
213-01  SK=g 42,000 42,000 0
BESINES:! 3,500,000& 128 = 42,000
216 OlAt==& 14,282 16,152 21,870
216-01  S3030IAt== 14,282 16,152 21,870
1)=30 201Xt 740,000,000 *1.93% 14,282
220 AN L= 185, 168 170,360 14,808
223 WY S 185,000 169,000 16,000
22301 WESLOIHLN= 15,000 15,000 0
NsAZF NSl OI32H2 15,000,000& = 15,000
223-03 1= 170,000 154,000 16,000
NSAZNSYeIE WElZ 170,000,000& = 170,000
224 et 168 160 8
22406 1°l=¢ 168 160 8
NEEXZAHAE AFEZ 4,8203*350H = 168




(erl: &)
yoae ooy o 5 2 TR

700 BE&-USLLHEHN 735,371 621,689 113,682
710 Ed2S 735,371 621,689 113,682
714 OIXIZ22l= 735,371 621,689 113,682
71401 OiXl=al= 735,371 621,689 113,682

NOIXIZ sl 735,371,000& = 735,371
= g g A 976,821 850,201 126,620

_41_




SIAHAHE 20164
Ol & Xb= - 2 0lA
SAHFE ¢ SAFDNEHDIS

@ &A=

_42_

)
RE .22 . FY . g2 BaS NEED AT S 2

Aaze|n 976,821 850,201 126,620

XA A 976,821 850,201 126,620

2HE0| OIELCHE HRIEM 231,358 210,420 20,938

2HE0| OLECHR Hel=4 (=29 200,420 200,420 0

2K OIECHE AHelxA 200,420 200,420
201 et 420 420 0
01 AE2Y| 420 420 420 0
NESEWETPERN-EEL

70,00021%2&*33] = 420

307 eI2to|® 200,000 200,000 0

02 DIZFHALAIISE 200,000 200,000 200,000 0
2HIH0| OFECHE Hel =M 2,500,00024+807} = 200,000

S8 ZNSXH|(SQUZDE 30,938 10,000 20,938

S ZNE FHIAIY 30,938 10,000 20,938

201 LEr2gH| 10,000 0 10,000

01 AeaH| 10,000 10,000 0 10,000
BRI YA 10,000,0002! = 10,000

303 ZaE 3,000 0 3,000

01 maD 3,000 3,000 0 3,000




. G| - NIRAY - BES XEH PSS E=pNE Hwns2
3,000,0002 = 3,000
17,938 0 17,938
17,938 17,938 0 17,938
140, 00027004 = 9.800
8,138,0002 14! = 8.138
745,463 639,781 105,682
745,463 639,781 105,682
745,463 639,781 105,682
744,463 638,781 105,682
744,463 744,463 638,781 105,682
DEHIZ MXI2 744,463,0002 = 744,463
1,000 1,000 0
1,000 1,000 1,000 0
1,000,0002 = 1,000
£ g 976,821 850,201 126,620
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—1 Ol XISH&E S
3 . g E j | ) Eé;' =< g9 H &:I (=]
SAHHAE 20164
Ol &bRE= 0 20l A
AFZE ¢ SAZDEHII= _
(crel:&e)
x o o
ol R
2T & i, sx2sl+ DN JIEF HIS XS J|E}
ol I ol sA33% SANS
2010 DXl 0 0 0 0 0 0 0 0 0 0 0
201138 % 52,730 50,000 0 0 0 0 2,730 0 0 0 52,730
20129 % 152,274 0 0 0 0 1,444 150,830 0 0 0 152,274
20138 & 275,622 0 0 0 0 5,356 270,266 0 0 0 275,622
201449 % 374,097 0 0 0 0 21,844 352,253 132,027 132,027 0 242,070
20159 & 227,095 0 0 0 0 16,152 210,943 214,420 213,420 1,000 12,675
20169 % 241,450 0 0 0 0 14,282 227,168 232,358 231,358 1,000 9,092
Hl 1,323,268 50,000 0 0 0 59,078 | 1,214,190 578,805 576,805 2,000 744,463




|2 al = —
SIHAE : 2016E
Gl &FXb= 0 201 A
3 L RS P A =
OiIxl &
& OllxI(EH) A
20143 UE T 2015 US| H@ EENEIO) E(Oz6)
S 735,371 744,463 9,092
N 2 735,371 744,463 9,092
el 735,371 744,463 9,092
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SIAHAHE 20164
Ol & Xb= - 20l A

2AF= - HOISXMEAEERDIS

@ JISEX N
(1) &x12H :

NESEA S+ HII=S
Xl S2 0l et &
20144

T
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MelAld ZXdlg =2t |
AL
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=1
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FHDISXEIAIE EX 2

00

O

J

20169 &

2,692,210

67,305

E=el
2@i%H@ THME) = H D
- =g K& © @=0-0© @+ @
300 2,759,215
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SIAHAHE 20164
Ol & Xb= - 20l A
2AF= - HOISXMEAEERDIS

- &l Al =] Xl £ Al =]

g = =2 HEE - oH i ) = PN HEATX|E&H
| 2,759,515 2,718,632 40,883 8t H 2,759,515 2,718,632
eSfelE 0 0 0| HIS AL 300 300
CES= 0 0 0| BXHEAMZ] 0 0
PRl 0 0 0| olzieNy| 0 0
o 0 0 0[21= 0 0
EFEEECES 0 0 0|02 0 0
VPNEL-ES 2,692,210 2,636,250 55,960 | OiIXI2 2,759,215 2,718,332
o432 0 0 WIBEIELRIERN 0 0
Ol Rpey 67,305 82,382 A15,077 | Gl 4222l 24k 0 0
It 0 0 0|JIEHKIZ 0 0
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SIAHAHE 20164
Ol & Xb= - 20l A
2AF= - HOISXMEAEERDIS

@ 201 = (el &)
S el o 5 2 N

200 M2l 67,305 82,382 A15,077
210 A& N2l 67,305 82,382 A15,077
216 OlAt==& 67,305 82,382 A15,077
216-01 Z=30IS30IAt== 67,305 82,382 A15,077

NEI L BS02 0l 67,305,000& = 67,305
700 EM=LSHLHEHH 2,692,210 2,636,250 55,960
710 28 S 2,692,210 2,636,250 55,960
714 OIXIZ3l= 2,692,210 2,636,250 55,960
71401 OHIXI3=l= 2,692,210 2,636,250 55,960

12120 X2 &% 2,692,210,000& = 2,692,210
= g g A 2,759,515 2,718,632 40,883




SIHAEE  2016E
Gl &FXb= 0 201 A
SIHFZ ¢ HIIBHIANEEXDIZ
@ XEHE (St &J)
ZX 22 . O - J2AY - HYS INE- HEATX| =M Hunsz
HAME DY 2,759,515 2,718,632 40,883
oIS 2,759,515 2,718,632 40,883
IWREH MEEH TA 300 300 0
MEESE & SAZRHIIZ 22l Y 2SSHEDIEXM2IAIZAEXDI2) 300 300 0
HIIZ2 XM2IAE &X 300 300 0
201 LBH2%H) 300 300 0
01 AE2Y| 300 300 300 0
1)J12289235 I 100,000 *12%33] = 300
Wees(HAHFD 2,759,215 2,718,332 40,883
SHEXNES(HIISHIALLXIZ) 2,759,215 2,718,332 40,883
Hol2XM2IAlE 2X012 2,759,215 2,718,332 40,883
602 Ol XI2 2,759,215 2,718,332 40,883
01 oE= 2,759,215 2,759,215 2,718,332 40,883
DEHIISHAIALEXIIIZ HRI2 2,759,215,0002 = 2,799,215
X = & A 2,759,515 2,718,632 40,883
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3. (&8 Jigxd & A

Ol

==
SIAHNHE 20164
Ol &FXE= o 20l A
SIHFZE - HOIEX2IAEEXIDZ2
2813 (=EER-E)
zs & G = 2 boi
Y = 2 KA zl0|39 A9 iy
"= 3@ | @y | vxz | goz | A | gao Ol &t J|Et H ® HISKHY | Bt | pmsew | XHUSV | 0232 | JIE | (@-0)
eS| TS | MES | e | e | agl | Ao AHI | AMRIH| |2 i=2n | pi2ae | 22se | KIS

20104 kX 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
201MEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20128 S 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20138 & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20145 | 2,686,320 0 0 0 0 0|  58.800| 2,627,50|  50,000{ 50,000 0 0 0 0 0| 2.63,320
20155 & 55,890 0 0 0 0 0|  55.8% 0 0 0 0 0 0 0 0 55,890
2016 & 67,305 0 0 0 0 0|  67.305 0 300 300 0 0 0 0 0 67,005

2 2,809,515 0 0 0 0 0| 181.995| 2,627,520  50,300| 50,300 0 0 0 0 0| 2,759,215




T Ol Er
SIHAHE 2016
Cll &R 0 20414
3 =  HIISH2IANELEXD|2
| H| =2 HOIS2H™EIAEE XD (crel 12
GIXl & GlIErH
= GlIXI(EH X HIL
20148 LS THH 20158 LS K@ 2016 LS IHHD® F2(®-®@)

A 2,636,320 2,692,210 2,759,215 67,005
CIXI=2 | 2,636,320 2,692,210 2,759,215 67,005

=2 2,636,320 2,692,210 2,759,215 67,005
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SIAHAHE 20164
Ol & Xb= 0 S 0lA
IAFE - SB0IENESASUHHIIS

- & Al g X £ Al =
g = =2 HEE - oH sz g = XEH HEATX|E&H

gt H 834,008 783,374 50,654 | &t H 834,028 783,374
rSplE 0 0 0| HIS X At 0 0
2x3 0 0 0| SXHIAIIH] 33,800 40,800
ez 0 0 RIEES=E] 0 0
o 58,715 59,552 N837 | D12 0 0
VEEEELES 0 0 0|02 0 0
VPNELES 760,045 705,695 54,350 | OiIXI 2 800,228 742,574
o2 0 0 Wb EIEN 0 0
0l Rl 15,268 18,127 £2,850| Ol 222|248 0 0
JIEH 0 0 0| JIEHKIZ 0 0
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SIAHAHE 20164
Ol & Xb= 0 S 0lA
IAFE - SB0IENESASUHHIIS

@ 201 = (el &)
T el o 5 2
2Jo4
GRS 15,268 18,127 A2,859
210 BAEAQl4L 15,268 18,127 ~2,859
216 OIXH=-2 15,268 18,127 A2,859
216-01  B20IS0IXt+= 15,268 18,127 A2,859
% 15,268,002 = 15,268
700 BE+ASUUEHH 818,760 765,247 53,513
710 24 818,760 765,247 53,513
713 SN2224Y 58,715 59,552 1837
71301 QRISX3E4+4 58,715 59,552 837
58,715,000 = 58,715
714 OIxIS31% 760,045 705,695 54,350
71401 OIXI38l= 760,045 705,695 54,350
1)71201%12 3 760,045,000 = 760,045
+ 2 g A 834,028 783,374 50,654




SIAHAHE 20164
Ol & Xb= o S04
SIAFE - SB0IEANEASASUHHIIS

® XIEHE (St &J)
ZX 22 . O - J2AY - HYS INE- HEATX| =M Hunsz
HAME DY 834,028 783,374 50,654
HoI2 834,028 783,374 50,654
IWREH MEEH TA 33,800 40,800 A7,000
EH0I3Y B3 O (SHHDISH KA S S0 2) 33,800 40,800 A7,000
A0/ X2 A 33,800 40,800 A7,000
501 X2 33,800 40,800 A7,000
01 oiEN= 33,800 33,800 40,800 A7,000
1)SZ0I5H2 THetA SHE CHO 33,800
)BT AleiA 9,000,00021% 1% = 9,000
2) BT KHSHA 6,200,00024%4% = 24,800
Wees(HAHID) 800,228 742,574 57,654
ERINEEEIEEIEE =l pIE=) 800,228 742,574 57,654
EA0I5H B A3 HoDI12 800,228 742,574 57,654
602 Ol XI2 800,228 742,574 57,654
0l o1x= 800,228 800,228 742,574 57,654
1) 2 Z0IsHISR2H0IS X2 800,228,0002! = 800,228
X = & A 834,028 783,374 50,654
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3. (&8 Jigxd & A

Ol

=
SIAHNHE 20164
Ol AFXE= 0 20l A
A2 ¢ 2F0=RFAES ASUHHI = o
(S &)
EEp Ep ro
o= _ R R _ kol
"= 3@ | @y | vxz | goz | A | gao Ol &t J|Et H ® HISKHY | Bt | pmsew | XHUSV | 0232 | JIE | (@-0)
eS| TS | MES | e | e | agl | Ao ARIHL | AFRIH| |2 oi=3d | 2izae | 212aE | KIS
2010 DHXI | 2,011,9%2| 730,386 0 0| 1,162,559 0| 119,017 0| 1,585,024 0| 1,585,004 0 0 0 0| 426,938
201MEE 112,180 0 0 o 98779 0| 13,401 0| 48941 0|  48%41 0 0 0 0 63,239
20124 & 102,962 0 0 0| 84,385 o 1857 0| 47,99 o 47,99 0 0 0 0 54,972
20134 113,212 0 0 0| 94575 o  18.63 0| 18,847 o 18,847 0 0 0 0 94,365
2014E S 77,674 0 0 0| 59,803 o 17,871 0| 11,49 o 11,493 0 0 0 0 66, 181
20154 83,191 0 0 o 62,377 o 20,814 0| 28,841 o| 28841 0 0 0 0 54,350
20164 = 73,983 0 0 0] 58,715 o 15,28 0] 33,80 o 33,80 0 0 0 0 40,183
3 2,575,164 | 730,386 0 0| 1,621,193 0| 208,585 0| 1,774,9% 0| 1,774.9% 0 0 0 0| 800,228




o ~ -
.23 3 3

slHoiE 1 20164
Ol AFXp= : 20k
SHPE : BA0ISHATAS XS0
@ JISEX He

(1) @X2H : NSSYA Y7 S0ISFLNESVSUMIIS &3 X3

(2) SXI=X : A0SR NHSASS Hooh S22M, SH0ISHR FHE SLALD HRMHS T26P| &,

(3) HXE= @ 19914
@ JI=289 J|=gE

(1) JIsAt&el =2 SA0/5HRI0 AHE SEALD X2

(2) 20162= JISAFE WL EZ0ISH2A0| CHSHY XHAO CHOO 3101 (123]) StXt3 HOY, 2RI 34 2&tarsl
@ JI2Zx4 L 28

(1) 2= s

O HEY |2 =HH ool
HT ZAHE Sl
2015HE & 0 A ot -
FA0H @ ESRIORS nl
- = © &g © ST @=0-0© @+®
760,045 73,983 33,800 40,183 800,228
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| = 0Ol =
A= H HEs=s BAl
s|Jei= : 20164
OI&HRE o =08k
SRR BANSRAHASN2U0II2 .
&
OIXI & OISy
= OllXI (&) &
20148 =S 20159 2SI A@ 20163 2L AU® 52(0-®@)
2Rl 760,045 800,228 40,183
OIXl= A 760,045 800,228 40,183
sl 760,045 800,228 40,183
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SIAHAHE 20164
Ol & Xb= 0 S0l A
SHTE ¢ 223

® 2152 (CH9: M)
& & A = Xl & A =
g = =2 oA AT~/ oK g2 & = N HEACX|ENH = Zj
= H 1,867,395 1,713,364 154,031 | &t A 1,867,395 1,713,364 154,031
M3 535,433 521,647 13,786 | HISRHIAFRIHI 290,810 458,470 167,660
Bxz 0 0 0| SXHA A 0 0 0
yRel= 0 0 0| o2y 0 0 0
Bia 0 0 0| 1=l 0 0 0
===t 0 0 0| olEr2 0 0 0
0IXI33l % 1,302,962 1,150,310 152,652 | Ol XI2 1,576,585 1,254,894 321,691
IR 0 0 0| X2 Sate 0 0 0
0l Rp==2! 29,000 41,407 A12,407 | Ol 222348 0 0 0
pJIS =Sl 0 0 0| JIEIKIZ 0 0 0
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SIAHAHE 20164
Ol & Xb= 0 S0l A
SHTE ¢ 223

_’72_

RIpE &2
saae o0y e s 2
bests

200 MiQl=& 29,000 41,407 N12,407
210 BAHANI2 29,000 41,407 A12,407
216 O|Xt==¢ 29,000 41,407 N12,407
216-01 330201k 29,000 41,407 N12,407

29,000,000& =
700 EMUSLLHEAHN 1,838,395 1,671,957 166,438
710 B82S 1,302,962 1,150,310 152,652
714 OIXIZ23 %= 1,302,962 1,150,310 152,652
71401  OWXI2a= 1,302,962 1,150,310 152,652

1)JI20 X2 1,302,962,000& =
720 LHEHeH 535,433 521,647 13,786
721 82 535,433 521,647 13,786
721-03  JIEISIAHE LS 535,433 521,647 13,786

=1 =83 535,433,000& =
= 2 g A 1,867,395 1,713,364 154,031




SIAHAHE 20164
Ol & Xb== 0 204
SHTE ¢ 22D

@ NEH= CERE)
I .22 - - A4 - HR2AY - BHAS XEH HEATX| =M Hwns2
orMEDICE P 1,867,395 1,713,364 154,031
THEHEERY - P12 1,867,395 1,713,364 154,031
THaH 2 RHLE ot 290,810 458,470 A167,660
THSHOII (T2t 01 2) 290,810 458,470 A 167,660
==0oH Ol & 262,000 450,000 A 188,000
201 ety 25,000 25,000 0
01 A2 25,000 25,000 25,000 0
DY L S2=7 B AXE 2 500.0005t+ 1051 = 25 000
206 Mzl 25,000 25,000 0
01 wasl 25,000 25,000 25,000 0
nasoy 22 25,000
2) DIy 30050, 0000} = 15,000
2 HLHOIEA S 105 10,000,0008 = 10.000
401 Al = CHY| 212,000 400,000 /188,000
01 Al&H| 212,000 212,000 400,000 188,000
DEASSTAIL & 100,000
2)Xh4TH AR 400,00094%225m = 90,000
2)S X A 50,0002+2000} = 10,000
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80, 000-& *400HP
80,000, 000&

32,000
80,000

28,810

8,470

20,340

28,810

8,470

20,340

100,000& 12504

315,000& %26 0H 2~

70,0003 x4 H*43]

1,800,000 1CH
600,000 *2CH
1,000,000 1CH
560,000 x 14!
66,0003 +42
2,016,000&*1ME

21,810
20,690

12,500

8,190

1,120
7,000

7,000
1,800
1,200
1,000

560

264
2,016

21,810

7,000

1,470

7,000

20,340




I .22 - - A4 - HR2AY - BHAS INE- HEATX| =M Hunsz
2)oRiZ2uH () 80,0002%23 = 160
FES(HMSZEHR) 1,576,585 1,254,894 321,691
SAXE(HH221012) 1,576,585 1,254,894 321,691
Hur2e)o|2 1,576,585 1,254,894 321,691
602 Ol XI2 1,576,585 1,254,894 321,691
N L 1,576,585 1,576,585 1,054,894 321,691
NXHHZ2DIZ2 X2 1,576,585,0002 = 1,576,585
X = & A 1,867,395 1,713,364 154,031
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eH —1 Ol XIsH& =S
3. &Y D224 2 Aelis sl
SIHAEE 2016
Cll&ERE 0 20 A
SIHTRE - 22|02 _
(G2 &)
=l e i G
= Ao
== W@ | my= | exz I ELIPS Ol Xt J|Et H ® HISAtS 29| J|E} ®)
=== -== (OIRHZE) 20| 20| At Jl=H| =

20102 JEXI | 1,390,920| 1,139,045| 113,480 0 0| 134,938 3,457| 729,248| 690,823 38,425 o| 661,672
201EE 361,704| 334,929 0 0 26,775 0| 357,49 344,188 0 13,311 4,205
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